(1) “Provision' to [?arcnls 01: givin.g cducation opportunity to their children having age 6 to 14 years .” The
above section is added in which set of schedule 86 of Indian constitution under fundamental rights?
(A) Section-11 (B) Section -2
(C) Section -86 (D) Scction -4
(2)  Whois the author of life sketch of Mahadevbhai Desai “Agnikund Mein Uga Hua Gulab™?
(A) Manbhatt (B) Narayan Desai
(C) Jayshankar Desai (D) Mahadev Desai
(3)  Whois the author of stanza “Harino Marag Che Shoorano™?
(A) Kavi Preetam Das (B) Manishankar Ratnajec Bhatta
(C) Damodar Khushal Botadkar (D) Narsinh Mchta
) Function of Union of India is mentioned in which part of Indian Constitution?
(A)6 B)4
©)5 (D)2
(5)  Which Indian sportsperson won bronze in 51 kg category in World Boxing Championship?
(A) Sukhdev (B) Nishant Dave
(C) Husamuddin (D) Deepak Bhuriya
(6)  Toencourage Indian people for independence movement which English newspaper has been
started by Gandhiji in India first?
(A) Young India (B) YouthIndia
(C) Vartaman Bharat (D) Aandolan
(7)  Inwhichage Himalayan Mountain Range formed?
(A) Satyug (age) (B) Archean age
(C) Jurassic age (D) Tertiary age
(8)  Stars of sky shine because of which effect of Science?
(A) Diffusion of Light (B) Refraction of light
(C) Diffraction of light (D) Division of light
(9)  Whatisthe sharc of industries in gross national production in India?
(A)25% (B)29%
(C)32% (D) 39%
(10)  Inwhich part of Indian constitution, fundamental duties have been included?
(A) Part-3 (A) (B) Part -5 (A)
(C) Part - 4 (A) (D) Part- 6 (A)
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(11)

(12)

(13)

(14)

(15)

(16)

(17)

(18)

(19)

(20)

$a.

. ¢ sl
Who was the first person to receive “Bharat Ratna” ¢

(A) Dr. Rajendra Prasad (B) Dr. Sarvepalli Radhakrishnan
(C) Mahadevbhai Desai (D) Lalbahadur Shastri

In which of the following programmes interactive board is used?

(A) Pragya Abhigam (B) Bal Project

(C) Virtual Classroom (D) Gyankunj Project

Unique ID ofhow many digits is given to the students of a secondary school?
(A) 14 B) 16

©)18 (D) 19

Educationisa subject of which list in Indian Constitution ?

(A) Central List (B) State list

(C) Joint List (D) District list

In which organ, there is insulin production?

(A) Stomach (B) Pancreas

(C) Large intestine (D) Brain

In which country Hockey World Cup (Mens) - 2023l was organised?

(A) India (B) Japan

(©) France (D) Brazil

Where is the World’s Bj ggest Mineral Oil Purification Plant?

(A) Jamnagar (B) Ankleshwar

(C) Digboi (D) Dehradun

Howmany leaves including holidays have been decided for Gujarat Secondary and Hj gher Second-
ary Schools for the year 2023-24 by Gujarat Secondary and Higher Secondary Education Board?
(A)79

(B) 80
(C) 81

(A) PARAKH

(B) SWAYAM
(C) DIKSHA (D) SSSA
Up to which class education is expected in mother tongue in National Education Policy 2020?
(A) Class 6 (B)Class 8
(C)Class 10 (D) Class 5
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(22)

(23)

24)

(25)

(26)

27)

(28)

(29)

(30)

Ifthe syllabusis changed because of business and industries then this is considered as effect of which
factors on educational objectives?

(A) Cultural factors (B) Social factors

© Economical factors (D) Ethical factors

“Without thinking on what a person is doing what he should do”*? This thought is connected with which
goals of education ?

(A) Ethical goals (B) Goals of attaining knowledge
(C) Goal of complete life (D) Goals of good use of free time

Objectives, syllabus, institutions and time limit ifall of these are decided then this is considered as
which form of education?

(A) Informal (B) Formal

(C)lllegal (D) Joint

Which program does not directly apply to Informal learning?

(A) Knowledge of alphabets (B) Examination

(C) Education of business (D) Deaddiction

Which of the following issues is not included in three issues of learning process?
(A) Starting (B) Result

(C) Process (D) Evaluation

Some children are introverts, some are extroverts, some are talkative and some of them are shy. This
type of difference in children is known as -

(A) Physical difference (B) Difference in personality

(C) Difference in hobbies (D) Social difference

Which of the following is not included in different intelligence quotients ?

(A) Intelligence Quotient (1.Q.) (B) Spiritual Quotient (S.Q.)
(C) Regional Quotient (R.Q.) (D) Emotional Quotient (E.Q.)
Who has developed vocational interest modification?

(A) McDougall (B) Strong

(C) Morgan (D) Garrett

Which experiment is used to measure abilities/powers like Art, Music, Creativity in a person?
(A) Attitude Criteria (B) Interest experiment

(C) Zest/Rasamodification (D) Aptitude experiment

Which is not included in three types of internal processes in a class?

(A) Teacher-Student Behaviour (B) Student-Material Behaviour
(C) Teacher-Material Behaviour (D) Student-Student Behaviour
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(32)

(33)

(34)

(35)

(36)

(37)

(38)

39)

(40)

Which of the following is not included in commonly used three middle position statistical measures?

(A) Mean (B) Median
(C) Mode (D) Midpoint
Which s different from the three tests of evaluation ?

(A) Written (B) Oral

(C) Practical (D) Functional

With which of the following is spreadsheet related?
(A) Microsofl Excel (B) Microsoft Powerpoint
(C) Microsoft Word (D) Access

Whose philosophy of education is shown in “Framing and Clading” ?
(A) Gijubhai Badheka (B) Nanabhai Bhatt
(C) Taraben Modak (D)J. Krishnamurti

Education by productive labour, for productive labour, and can only be of productive labour™

(A) Mahatma Gandhiji (B) Ravindranath Tagore

(C) Mr. Arvind (D) Swami Vivekananda

Which of the following principles is not included in principles of John Dewey?
(A) Principle of utility (B) Principle of inclination

(C) Principle of labour (D) Principle of zest(rasa)

New India Literacy Program (NILP) has been started for illiterates of which age group?

(A) 15 years and above (B) 15 years to 55 years
(C) 6 years to 14 years (D) 21 years to 65 years
Which is known as one nation one digital platform ?
(A)PMeVIDYA (B) BISAG-N
(C) DIKSHA (D) Vande Gujarat Channel
Who talked about learning by senses ?
(A) Dr. S. Radhakrishnan (B) Ravindranath Tagore
(C) Mahatma Gandhi (D) Maharishi Arvind

Who started learning by senses for special children?

(A) Maria Montessory (B) Grace Fernold
(C) Jim Piaget (D) Ivan Pavlov
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Which of the following pairs of psychologists associated with study is correct?
(A) Trialand ?*I-f or- VY§§0151<)’ (B) Behaviourism - Pavliov
(C) Constructivism - Skinner (D) Conditioning by factors— Thorndike

(41)

(42)  Whichofthe following is not a characteristic learning process?
(A) Experience is necessary for learning
(B) Interaction with environment is necessary for learnin g
(C) Learning can enter from one condition to the other
(D) Memory is necessary for learning

(43)  Who gave Discovery learning approach ?
(A) Robert Gagne (B) Jerome Brunner
(C)Bandura (D) Ausubel

(44)  What will be the area of a circle having radius 14 cm? A formula is used by children to answer this
question. Which intellectual skill he or she has obtained?

(A) Differentiation (B) Concept

(O Rule (D) Solution of the problem
(45)  Inwhich ofthe following disorders intellectual skill of children destroys?

(A) Down Syndrome (B)ADHD

(C) Cerebral Palsy (D)Autism
(46)  Which of the following will be on top level according to Bloom’s Taxonomy?

(A) Evaluation (B) Creation

(C) Isolation (D) Utilization

(47) Which of the following is unsuitable in achievement test ?
(A) Sufficient time given to the students to answer all of the questions

(B) Class is related with progress(development)

(C) Education work is given at the end

(D) Questions are selected to test the skills of a student
(48)  Which of the following measurements of middle position cannot be shown?
(B) Extension
(D) Mode

(A) Mean

(C) Median
(49)  Which of the following is not true for standard deviation (o )?

(A) Group Category will be as much as the low value of standard deviation

(B) Standard deviation increases by the addition of any constant number in marks
(C) Ifall the marks are multiplied by only one number then standard deviation increases at the same rate

(D) Standard deviation is used to know the variability of the marks
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(50)

(51)

(52)

(53)

(54)

(35)

(56)

(37)

(38)

(39)

(60)

Which of the following is not a characteristic of E-content?
(A) These are only in digital format

(B) It is presented by webpage or any other medium
(O) It contains only animation
(D) It can be linked with QR code.

Which of the following is not OER ?
(A) BISAG-N (B) GROWER
(C)NROER (D) e-pathshala

Which of the following subjects (issue) does not apply in the concept of E-learning?
(A) Learning-Teaching is a present time field.(B) Learning has only one option.
(C) Class learning is interesting (D) Information is available online.

Summary of which cannot be applied excepting its related groups. This is what type of modification?

(A) Experimental modification (B) Survey et

(C) Basic Modification (D) Functional modification

“Children is creator of knowledge and not consumer.” This is the conclusion of —

(A) Behaviourism (B) Naturalism

(C)Rationalism (D) Constructivism

Learning is a natural process and not manmade. Who gave this concept?

(A)Aristotle (B) Rousseau

(C) Froebel (D) Montessori

R,U, X, A, D, ? To complete the series what will replace the “?” question mark
(A)F B)G

(OH D)I

1,3,3,6,7,9,9,12,21,? To complete the series what will replace the “?” question mark
(A) 10 B) 11

©) 12 D) 13

10, 100, 200, 310, ? To complete the series what will replace the “?” question mark
(A) 400 (B)410
(C) 420 (D) 430

In a certain code TEACHER is written as VGCEJGT then in the same code CHILDREN can be
written as?

(A) EJKNEGTP (B) EGKNFITP

(C) EJXNFGTO (D) EJKNFTGP

In a certain code TWENTY is written as 863985 and ELEVEN is written as 323039 then in the
same code TWELVE can be shown by which number?

(A) 863203 (B) 863584
(C) 863903 (D) 863063
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(61) Inacertaincode language ‘123’ means

: ge‘l “bright little boy’ and 145 means “tall big boy’. In the same
way ‘637" means ‘beautiful little flower

then which number will be there for ‘bright’?
(A1 (B)2
©)3 (D)4

(62)  If+means , X means -, + means +and - means - then which of the following numbers will be the
solution of 175—-25 + 5+20x3+ 10

(A)77 (B) 160
(C) 240 (D)2370
(63)  Select the appropriate option for ¢ 2 in the following figure
20160 4
? 4
430 8
9% | 24
(A) 860 (B) 1140
(C) 2880 (D) 3240

(64) Howmany triangles are there in the given figure?

el

(A) 15 (B)16 ©) 17 (D) 18
(65) What will be the angle in degrees between minute and hour hand of a clock at 3:40 ?

(A) 140 (B) 150 (C) 130 (D) 120
(66)  Select the odd pair:

(A) Yoghurt-milk (B) Sandal - leather

(C) Peanut - oil (D) Sugar—sugarcane

(67)  Arrange the letters of the given word alphabetically.
(1) INTERANAL (2) INSECT (3) INCOME (4) INTERN (5) INSIDE
(A)3,2,5,4,1 (B)3,4,5,2,1
(©)4,5,1,3,2 (D)3,1,2,4,5

(68) Iffirst day ofaleap year is Sunday then how many Sundays will be there in the same year?

(A) 50 (B) 51 (€) 52 (D) 53

(69) A persondrives his car 50 km towards east after that he turns right and drives 30 km. Then he
turns west and drives 10 km. How much away he is from the starting point?
(A)20km (B) S50 km (C) 100 km (D) 60 km
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(70)

(71)

(72)

(73)

(74)

(75)

(76)

(77)

(78)

(79)

(80)

(81)

Select the different figure.

(A)A (B)B (C)C (D)D
.................. 2 PHAL AN D
(A) B)2a (C) 2113l (D) U
AR L sy A, Gels 8.

(A)dsuy (B) scuqal (C) Yayd (D) URAAR
el el A Gl v « edleuat. - sl W51 vl

GNERIE (B) s (€)1l (D) D25
1501l Breall eacRvia «iell il ude SHiza At st Al dlell. 241 st UsIR el
(A) &L (B) Y5ds (C) 8154 (D)dlA2
wlEl ARl 55 ?

(A)yes (B) elsil (C) 15U (D) sl
‘“fl2a’ goe-l Rl we g wn?

(A) YHRAA (B) nad (OYIN (D) Slalse

el 2efll vildl A3 Slu d [Asey s 9 ?

(A) vl - 9151 (B) i-1Rqll - [Bdainl () 23aRy-aulRy (D) sl - gl

) atel AR A2t Hi2 B3l Ul U Avtcid 33 Glrid 2 - Aot -l s ot 51 BT
(A) evll (B) 2581y, (ORIUEL (D) 1l
RAHRELA GRA UL - 2l U Ad alsd 5468 ?

(A) st ! ed RRid us !

(B) Hatust A Renzlfadl onur, 2 i 3o wll 1, Grirunll 3sl e aadl usd.

(C) N oAy : WL @virell LA o+l
D) ..... A HUAEUAS.

9168 24, el sl 208l VLAl oBs €ld ddl [Rsew suL e ?

(A) LBl - UBLEY, €1 (B) 52 - &, QAR

(C) sid - UL, 2id:58 (D) 2 - (3L, g

2l sl Wil 53¢ oe-l GRA nloL Ul Qi dg sy 548 ?

(A) A 21 uat % s1a aizan -l (B) 514 AUURAUR 21Y o % HAAG B,

(C) ik 19 | A slzicu sin i ®. (D) £3% vuasHisll unalsd wwd eid 529 RS
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s2) ‘2elael woerdl AMMANS o iy ?

(A) e+ i (B) 22 + e
(O Re+ 3l (D) 2ell + D\
(83)  »udell awsdlH ‘s Ay sy @ 7
(A) 2L AHUHT ALSL YRUR ™, (B) 28 Y2414 181RIA HLSAL.
(C) AR5 AL U MR virtiop 2y B, (D) vi2ls 59 olledl « el

84) Al MR AMRRAR, vl Guid wRWR 5101 llagl.’ - qusi YulilRd s2 20E VR
[Buladueirdl s usiz @ ?

(A) 2[RHaR] ByRdya (B) axual1s FuuQamel

(C) Aacias Gu@dws (D)2a-as Fuiladys
(85) 1Rl el -l A BavL oge] 3 Uy 7 - w512 2Ll

(A) Als125 A 512 (B) v[Qadl[5t »ieis1

(C) 3Us AdsR (D) GuML AeLsIR

(86) Mahesh was too smart. (Remove ‘too’ without changing the meaning,.)
(A) Mahesh was not smart at all.
(B) Mahesh was smart more than required.
(C) Mahesh was foolish.
(D) I was doubtful whether Mahesh was smart or not.

B7) e, INS Arihant is ....cccccveverenee Indian Naval ship. (Fill in the blanks)
(A) The & an (B) An& an
(C)A&an (D) The & the
(88) Most students have brought their homework. ..................... of them have not completed it yet.
(A) None (B) Few
(C) Each (D) Alittle
(89) 3 HIRL AULYL SULEHL. - AL ALse 55U i AMidR g Ul ?
(A) I cutmy hair. (B) I clipped my hair.
(C) I got my hair cut. (D) I'had a nice hair cut.

(90)  Give the nearest meaning of word : ‘Phantom’.

(A) existent (B) imaginary

(C) corporeal (D) tangible
(91)  Give the verb form of ‘little’,

(A)alittle (B) unlittle

(C) belittle (D) bilittle
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92) Changc the voice : “What caused COVID-19 7"
' d by COVID-
(A) What was COVID-19 caused by ? (B) What waéztsl;_ 1 ;, e causlg?
(C) By what is COVID-19 caused ? (D) By what e
ot ing of the underlined worq .«
(93)  Select the word or phrase which is closest to the opposite in meaning rd: Raby
will never accept your request.”
(A) turn over (B) turn down
(C) turnup (D) reject
: : irease:=ixn ?
(®4)  Addasuitable question tag : Radha, one of my neighbours slipped offa staircase '
(A) did she (B) does she
(C) doesn’t she (D) didn’tshe
(95)  Fillin the blanks with appropriate set of prepositions : Nidhi travelled ................ hermotherall........
the world when she was 17 years old.
(A) by, above (B) for, around
(C) with, around (D) with, over
(96)  Turn this sentence into English : “eoruel ¢ d- cul 2isdl Qedl 2AS sl sdl.”
(A) Icould still saw her standing there alone. (B) I could still see her stood there alone.
(C) I could still see her standing there alone. (D) Icanstill see her standing there alone.
(97)  Fill in the blanks with the appropriate word / words : Rohan and Nayan have been on vacation
..................... May 2023. They ..................... to Manali for a week.
(A) for, had gone (B) since, had gone
(C) for, have gone (D) since, have gone
(98)  Mantra got the first prize last week. Find out the correct option to get the underlined answer.
(A) Which prize did Mantra get last week ?
(B) When did Mantra get the first prize ?
(C) Which prize Mantra got last week ?
(D) Where did Mantra get the first prize ?
(99) Ravi.....com... in this company for five years. Find out correct form of verb from the options.
(A) works (B) is working
(C) has been working (D) have worked
(100) Find out the correct spelling from the options.
(A) Spactacular (B) Spectacular
(C) Spactaculor (D) Specteculor
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(01) = BT svoeserrersesssrsrinsans qg: |
(A) ®) 7
(©) a4 Dy
(102) ST i WA | (YETfed vee ff g 1
(A) 9o ity
Q= (D) Gt
(103) ‘ATdTAAT - HHRETH fore |
| (B) wivea: |
o (D) ¥ |
(104) T STaEire §: e | Yaifgd weer Fe=mm foe |
Ol (B) e
(©) PR (D) ST |
(105) foem: @ = | (‘' WA e faad 1)
(A) faem: a7 fremfa @) (B) frem: o e = |
(LS N (D) frgm: 3 frerrea = |
(106) One day Swami Satyadev came to Ashram. (FRa+ai fer@q)
(A) THET fead T ered: Tl s |
(B) T foa®l Tt weaca: ST oTTeed |

(C) T Teerd) Tt Fedeer: SMerm v STT=sr |
(D) TR fEard Tt wegea: S SnTes |

(107) <& FaMY GF T everernererenenens |

(A) wforsafd | (B) wifereg |

(C) wfasafd | (D) sifsaf |
(108) HeI9RA i gaifor |i= ?

(A) ST (B) THRI:

(C) srErew: (D) ToE:
) TS < l

(A) famrey (B) ferme (C) ferure: (D) forar
(110) ‘Tgw:' veewg qaid: F: ?

(A) ars: (B) g (C) TEw: (D) et
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(111) Wy Yo Fe: Avon: f& 72 | (SIRfEd vee Famamen forem)

(AP (B) R
(©) TR Rl
(12) s ferry, 33y = o 7o Al |
(A) T ()AL
(C) Wl (D) A
(M) it fasma: |
(A (B)a9q
(C) 3t (D)7
14) = WTH: T |
(A)Tg
©) T ((E;Uzrz:
(115 : ﬁ
) m STTHR 6 ol Samoi g sygfy 2
oy (B) FHRE
(116) mﬁﬁﬂfﬁ? oy
(A) T
(C)we b
(117) : e
m. SIS TR T Jo3; orde ST 2
Oz i
(118) ‘um'mﬁm%mm., Pl
sy :
© i
(119) ﬁaﬁmﬁ;ﬁm HEAI ST 2 oL
(&) 7 |
(C) =reremry bt
(120) sereicen sv2m: %51 e e <oy » o
(A) 3
o (B) frm
(D) ¥igign
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a2 i fir L ?
QR (B) farg:
(O (D) T
(122 A A A R H
(A) Court (B) Balcony
(C)Roof (D) Peak ’
(123) TR Fige S T A5 o 2
(A) Talkative (B)Rich
(C) Satisfied (D) Strong
(124) goie ford 7 +FaIfd 2
AT (B) waig / way
(C) T (D)
(125) o SR fey 2
(A) (B) &s:
(C) shix: (D) WA
(126) ‘wdl =R 99" is an extract of which poem ?
(A) Meghduta (B) Shishupalvadh
(C) Rutusamhar (D) Raghuvansh
(127) GORIOTerATT—: o S ?
(A) famn: (B) ara:
(C) 7ot (D) waaf<:
(128) Tord et wrgaT Tfd ?
(A) FgFA (B) T
(C) wraer O EISERER!
(120) ‘=l A Wawor ol is the beliefof oo ?
(A) Abhimanyu (B) Arjun
(C) Bhimsena (D) Prince Uttara
(130) Which poem is believed to be qfarata- e -Higar ¢
(A) Mahabharata (B) Raghuvansh
(C) Ramayana (D) Naishadhcharita
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(131) ‘Foaeyqugf:’ & @ |

(A) FetRE: DS
(C) feeframegey: (D) TR
(132) ok wd: ¥ wqafa ?
(A) Tmm: (B) HeftaeRiLt
(C) A (D) e
(133) How many Swaras of Vedas are ?
(A) 26 (B) 13
(C) 03 (D) 15
(134) A9T: W1 gt wwa=H fae fored -
(A) 3’q (B)HH
(C)7 (D) 4
(135) = wdwer: Toe; afqw=fy ?
(A) T (B) #rt:
(C)amg: (D) dfe:
(136) Torre =t YT Ser SR e TR ST ?
(A) TImmH (B) TR
(C) Tgeiy, (D) §w=ImH,
(137) FHAAR Qe Soif | e ware e fored |
(A) =gl aegey (B) W ey
(C) Teitan wegey (D) 3W 55
(138) ATIRIA TS T oo | feereer “Sfaed og’ oy 2
(A) Fa9 (B) ¥y
(C) Trery (D) &g
(139) ‘9’ (9 Wm,mwawmwwmm .
(A) T, W, 4Y (B) 1, 7T, wRi;
(C) 4z, 7=, T (D) ¥, T ey
(140) “fs’ wreeet g, foreon Wl W T el e fotfim |
(A) w1, e, 4 (B) =, firss, o
(©) o, fires, 319 (D) #, firg, sy,
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(142)

(143)

(144)

(145)

(146)

(147)

(148)

(149)

(150)

(A) BN (B) wfer (© sy

whichofthe following Treatics is part of P

ancht;
(A) Mitrabheda antra ?

(B) Suhrudbheda

‘ ' (D) All of the above
Kalidas sung g W‘W{' in Which of his Poem 7

(A) Kumarsambhava

(C) Vigraha

(B) Raghuvansh
© Meghduta (D) Rutusanhar
1 L | HN A BT 1" R e |
(A) TEH (B) e
(C) e El B (D)m
It brings money. Find the correct Sanskrit sentence.

(A) @ o foefa (B) ¥ 4 forefar |
(C) T 4 T | (D) dfr i fretfir |
‘ARRFEIWARE: ' IS8 THEYHR o |

(C) FHIREE: (D) Sgsffegmra:
1 YR o 7 IR ?

(A) HHFHAL (B) A==

(C) STHL: (D) QHFES

g 122 S TR | O A SR | e P |

(A) fafaar (B) fafaem

(C) fafau EEE!

Yo’ e A ?

(A) Dancer (B)Actor

(C) Singer (D) Mountain

Which of the following is related to learning centered approach to education?
(A) Imposed (B) Authoritarian

(C) Self Controlled (D) Autocratic
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(151)

(152)

(153)

(154)

(155)

(156)

(157)

(158)

(159)

(160)

A T | o e " e gL |

(A) 7 (B) 7

(C) ==fa (D) #es:
FrgRmeraRe) Sy st wfq ? (D)«
(A) v B) = (€) =®
R T 3 A T w2

(A) Fify (B) arehfin
©m (D) &
TR 5 U= w2

(A) 37e; (B) ISTeheATOH,
O gsq (D) tHdfg:
FHIRT - TR el ferm ?

(A) YraeTer: (B) e

(C) gmg: - DW=
otttk FHTERA qy: il feraradey fipy 2

(A) TurIEY (B) HHRRY
(C) ¥9=L: (D) Tu=
A+ T T dnd whgge o 2

(A) e B)d A (©) R (D) 59
FH fd: veiRiaa iR ?

(A) = (B) Foorey

(C) ferae (D) forsaiy;
HH G ........ weifet | e g |

(A) fam (B) e

(€) 58 (D) agsitfi
HAT TG cviveivernennns

(A) Tead (B) vy

(C) Tt (D) ot
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(163) *wrlivare T e sentence is narrated in wich of the following scripture ?

(A) Charaksamhita (B) Shushrutsamhita

(C) Kumarsambhav (D) Vimansthan
(164) "'Iage" word has which participle (F<) 7

(A) TdFA (B) Hel s |

(C) FfaPe (D) ferardge
(165) *“a=t wroe i a1 s Iefd ?

(A) T (B) TRIRH:

(C) wigf: (D) YT
(166) T .oveeeeenrs el WAl I

(A) T (B) T (C) ==
(167) “weman'- WA Y faed

(A) FHORTHHE: (B) SgsllieqHE:

(OFIERIGRIEELISE (D) SrEorEH:
(168) oTd: SEARTId ¢ 4afd - Who spoke these words ?

(A) T (B) et (C) T
(169) eii: 3 v Ja e & ?

(A) FITL: (B) 3T

(C) 3TreT: (D) ST
(170) Identify participle (F&) in the word - T&1a:

(A) S de (B) faardde=

(C) o= (D) Rl Fa
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(171)

A+ 3+ I | (af FIa)

(A) T (B) FTg
(C) 7 a1 WEREUS
CIT2) - wiisenennnssss G IS 750 |
(A) frmrf (B
(©) firk: (D) firr
(173) | RaT oo, T4 gl |
(A) forfa: (B) ferarfer,
(C) féraereh (D) fermferrs:
(174) ‘wadfza:’ (wmawer foem)
(A) TfeRy (B) FHA
(C) 3R (D) Fgsife
(175) SRIZ: ovvvereereerrrennn, i =arRr |
(AT @) 7 (© T (D) I+
(176) SR fieg: =m: whemf | Qarfeme Feamer foad)
(A) TedgR (B) fereaeieha=
(C) FHfnsgche (D) T THE
(177) ‘SAQHERay - F& = 91 ?
(A) aresifen (B) W (C) wavfa (D) =Tor:
(178) &= M TR+ 7 &4 |
(A) T (B) T
(C) TR (D) 3T
(179) gfa: e = a7 ?
(A) T (B) =
(C) waif: (D) Fafs:
(180) UITE: sivsimisassnssasvisinis TGHT T |
(A) & (B) &y
(C) tafm (D) &
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Who gave the steps of diagnostic test ?
o) =

181 sami
(* A) pr.Benjamin Bloom (B) Ross (C) Ramers (D)Adams

L Howmany .we.eks ofl.ntemshlp program is arranged for B. Ed. Trainees so that they get
(182 cnough realistic experience ?

(A) 12 Weeks (B) 15 Weeks  (C) 13 Weeks (D) 14 Weeks
(183) whichofthe following method / option is used to learn unknown words in Sanskrit ?

(A) Demonstration (B) Word memorization

(C) Word writing (D) Word recitation

(184) During teaching, a teachers statements encourage students to elaborate onan answe,
either their own or that of others will be called
(A) Structuring

(B) Instructional variety
(C) Engagement in learning process (D) Probing
(185) Theageof 8 years of growth and development iscalled ...........
(A) Childhood (B) Infancy
(C) Adulthood (D) None of the above
(186) Which of the following is the skill of language expression ?
(A) Speaking & Listening (B) Reading & Listening
(C) Writing & Speaking (D) Speaking & Writing

(187) Whichofthe following statement is not recommended by Sanskrit Commission ?
(A) There mustbea provision for Sanskrit teaching in school.
(B) Commission opposes teaching Hindi in place of Sanskrit.
(C) ‘Pali’ & ‘Prakrut’ should not be taught in option of Sanskrit.
(D) Other subject should be kept as option instead Sanskrit.

(188) Whichofthe following institute conducts “Sanskrit Gaurav” examination ?

(A) Pathshala (B) Sanskrit Bharati
(C) Saurashtra Vidvad Parishad (D) Bruhad Gujarat Sanskrit Parishad

(189) Whichofthe following objective is not included in Question paper of Sanskrit ?

(A) Behavior change  (B) Knowledge (C) Understanding (D) Skill

(190) Which s of the following is a limitation in group discussion method ?
(A) Learning becomes effective.
(B) All learners in a group does not become active.
(C) Learners gets deep information of content.

(D) Knowledge becomes everlasting.
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(191) Who gave the classification of education objectieves ? .
(A)J.B. Watson (B) Dr. B. K. Pasi
(C) Benjamin Bloom (D) Prof. Ned Flenders
: . . jous teaching Methods 2
(192) Which ofthe following is included in curriculum to acquire proficiency on vanous & Methods ?
(A)Micro lesson (B) Bridge lesson
(C) Simulation (D) Stray lesson
- = N e (7
(193) Which of the following type of question illustrate a point or focus attention on an idea or principle ?
(A) Open questions (B) Closed questions
(C) Funnel questions (D) Rhetorical questions
(194) Inthe classroom the teacher is focusing on phonemes and different structures to be
mastered by the learners. Here the teacher is influenced by
(A) Functional Approach (B) Cognitive Approach
(C) Structural Approach (D) Lexical Approach
(195) Which type of questions are used to measure free and creative expression ?
(A) Short questions (B) MCQ
(C) Essay type questions (D) Fill in the blanks
(196) Which ofthe following is connecting link between Microteaching and Stray lesion ?
(A) Simulation (B) Lesson plan
(C) Daily planning (D) Unit lesson
(197) Which skill is more important for pure pronunciation ?
(A) Speaking (B) Listening
(C) Writing (D) Reading
(198) Microteaching was started by which of the following University ?
(A) Chicago University (B) Stanford University
(C) Avalon University (D) Georgetown University
(199) “Students identify mistakes from given information.” This specific objective belong to
which of the following general objective ?
(A) Knowledge (B)Attitude
(C) Understanding (D) Value
(200) Which of the following option is the first step of Herbert’s lesson planning ?
(A) Statement of Aim (B) Presentation
4 2 2
SANSKRIT (A) (22/24)




